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QID : 121 - FafaT &1 HR-fawse -

Options:

Correct Answer: 3) gd+3aH

Candidate Answer: 3) gd+3aH

Options:

1) SHATHIT
2) HHYRY

)
)

3) dd=y
) fe

Correct Answer: 2) FHHYRY

H

Candidate Answer: 2) HHYRY
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QID : 123 - ‘SSY § HH-91 AN 82

Options:

&

3
FHYRY

ERCI

Correct Answer: 4) GE‘QW]%

2oprp=

Candidate Answer: 4) aﬁéﬂ%

QID : 124 - TR &) Ugehs U & IR ¢ |

YR AT &) §H 757 o3 ¢ | IR H fRATag 391 et g1 2férn & ffg HeRmR 39 aR01 U¥RdT g
UfEH § o ) WE 3R RE H ST g | TI-aHT, THer-are, S, Merast, Sergs e Afeat
HRA & AT &3 B MHT Ferat 3| Fal & deId! B 3R I H U Bl ! 98R HRIHTT BT
IUER B UAF YH &1 Afdq HRd Al &1 9Yd § | Jaab! 1 § HR ATl

YR AT &1 IUER fhd BT 71 82

Options:

1) a1 H Si-gt

2) GH § @

3) T 9 31 fIbey 9l &

4) T A IS TN

Correct Answer: 4) sqfrﬁaﬁ%:rﬁ

Candidate Answer: 4) E:FET T aﬁé :l'tﬁ

QID : 125 - Accountability % T Tgt TR e B 2

Options:

i

)
)
)
)

A OWON =

Correct Answer: 2) IR

Candidate Answer: 4) SECIRL
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QID : 126 - 'Commissioner' & NSRRI CE W% ?

Correct Answer: 2) 3{Igdd

Candidate Answer: 4) ﬁﬂTﬂ

QID : 127 - Hig A &gl [ & WG| I I | Hell o-

Correct Answer: 1) InE_'f

Candidate Answer: 1) A8+

QID : 128 - FAAfiRad are & fhraw smre™ HRe o faufa 82

Options:

1) 98 FaIS! I g& Hledl |

2) O 3 §=d S AW

3) fawctl ©d 9 % ULl

4) SR A W UH ST

Correct Answer: 3) ﬁv_vﬂ@?{@@q@l

Candidate Answer: 1) 98 $egIa! I g&f HTedl g |

QID : 129 - ‘Soold IARAT HgTaR HT 3 gHTI-
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Correct Answer: 1) S3OHId HAT

Candidate Answer: 1) ST BT

QID : 130 - T8 J P T I 3K 5:-

Options:

Correct Answer: 1) WWWW@[E‘T‘T%I
Candidate Answer: 1) WWWW@{E@%I

QID : 131 - DI UGy P 3=IId T el 872

Correct Answer: 3) JHY Ucay

Candidate Answer: 3) 99 UGy

QID : 132 - * 7 forg 78 Yobd1’ 91 I Higard H defa|
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Correct Answer: 3) T forar =gl I Gobar|
Candidate Answer: 1) T¥ ferar =gl |

QID : 133 - 9 & 3 W1 a1 Y &-

Correct Answer: 4) Rt 3 8 7Y firem =gl
Candidate Answer: 4) fRermRIe 31 8 3T o =nfgul

QID : 134 - T ©-
Options:

ar
are

)
)
)
) T8 Y BIS el

1
2
3
4
Correct Answer: 1) Yﬂﬁﬂ'{s’

Candidate Answer: 2) dI™H

QID : 135 - I[&E old g dl IP 31 HEad! -
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Correct Answer: 2) S0

Candidate Answer: 2) I

QID : 136 - SUHT & IUAH P U DI UG B dTdT 3APR g 2

Options:

N =

3

)
)
)
)

5953

Correct Answer: 4) 14%3

Candidate Answer: 2) L

QID : 137 - U 3APBR & foha Vg § 2

Options:

—

2onN2
o wa O

Correct Answer: 1) 5

Candidate Answer: 3) 3

QID : 138 - * FUAT T § ? 74 TSl WX, TT §3MT 3G &1 Uit | * H SAPR @ -
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Correct Answer: 4) ¥UdH

Candidate Answer: 2) SSI&f

QID : 139 - T§ WM} & THATAIAGR 3181 791 %61 81 & B T SADR &-

Correct Answer: 3) *Udh

Candidate Answer: 4) 37-@ I Tﬁé T@

QID : 140 - IR 3qd AR gg arg = +ft, T srdaat famifea g1 a1 <t 39 dfed & o1 SR &-
Options:

ESL

) TS

) [auTaT
) SIET

HOON =

Correct Answer: 4) IET

Candidate Answer: 1) WY

QID : 141 - AT RN BT T T oIt & HRYR TS Fg1 | 3 Ufad & HH-IT SABR -
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Correct Answer: 4) faRtemym

Candidate Answer: 4) faRremy

QID : 142 - UG | Sl AT URH STl €, 39 58T Sl 872

Options:

)
)
)
)

A 5D

1
2
3
4
Correct Answer: 1) &

Candidate Answer: 1) &

QID : 143 - {59 T & YA IR0 H Gl 0T, T SRV 3R & T[S aUf 51d 52

Options:

)
)
)
)

Correct Answer: 1) S<ddl

Candidate Answer: 3) a1

QID : 144 - HIH-YBTI ATHPB Y B TAIBR B 272
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Options:
1) HHC
) HTHE
3) ¢3Sl
4) 9

N

Correct Answer: 1) HHC

Candidate Answer: 4) dH1

QID : 145 - “ T YEHT & ST, H1 B SO FA I 7 9 Ufad § D1H-91 34 82
Options:

1) fagm v
2)@';:@5

3) Pl
4) RITd

Correct Answer: 3) HUIYH

Candidate Answer: 3) H=UI XY

QID : 146 - The LCM and HCF of two rational numbers are equal then the numbers must be

31 gAY TATS BT {00 SR F0HO SRIeR ¢, o) ST 3fa<y g givtt
Options:

1) Prime
SHHSY

2) co-prime
Hg-3HHSY
3) composite
Bl

4) equal
THA

Correct Answer: 4) equal
THA

Candidate Answer: 1) Prime
STHISY
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QID : 147 -

If p be of the form 3® and q of the form 6*X5™ then of
what type will be the decimal expansion of the fraction

=

q
Al p, " FTUBI 3R q, 6ﬂx5mmaﬂ€r,a°fﬁ+—rr§
&1 SHA YR HT erT?

If p be of the form 3» and q of the form 6%X 5™ then of
what type will be the decimal expansion of the fraction

29

;ﬂ:cfp, 3" FTYHI 8l 3R q, 6ﬂx5mmﬁ€[,ﬁﬁmg
oI SIHTT YR HIT 8N

Options:

1) Non terminating repeating
3id sadt

2) Terminating

qid

3) Non terminating

3Td

4) None of these

T BIE TEl

Correct Answer: 2) Terminating
id

Candidate Answer: 1) Non terminating repeating

3T 3adf

QID : 148 - The LCM and HCF of (96, 404) is ...........

(96, 404) T ToHo TYT HoHo BRI ..............



https://applink.adda247.com/d/XhqWf9lSap

Adda7

Options:

1) (9696, 4)

2) (4, 9696)

3) (9797, 5)

4) (5, 9797)

Correct Answer: 1) (9696, 4)

Candidate Answer: 1) (9696, 4)

QID : 149 - A pair of Linear equation which doesn't have any solution is said to be :
TH RS TR0 T ST H12 8 181 eIl 7, RIS JHIHRON &1 B T T HEardl | -

Options:

1) Inconsistent
fariet

2) Consistent
SffaRiet

3) Dependent
313y

4) Exactly one
3{dd: U

Correct Answer: 1) Inconsistent

faRTeft

Candidate Answer: 1) Inconsistent

faRTeft

QID : 150 - If simultaneous system of equations has infinitely many solutions then the pair of linear
equation is said to be :

af o SRl T @1 AR 5 81 ) a8 IO T SEer @ -
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Options:

1) Inconsistent
farieft

2) Consistent
SffaReh

3) Dependent

4) None of these

T IS T

Correct Answer: 3) Dependent

313t

Candidate Answer: 3) Dependent

313

QID : 151 - If the sum of two numbers is 35 and difference is 13 then both the numbers will be:
Ife; a1 TReAmsit 1 AT 35 Td IAHT 3R 13 B Y a1 TRemd gt -

Options:

1) 20, 15

2) 23,12

3) 24, -11

4) None of these

T IS T

Correct Answer: 4) None of these

T IS T

Candidate Answer: 3) 24, -1

QID : 152 - If the mean of the following frequency distribution is 2.6 then the value of x is ........

fAmifed sfips! &1 AT 2.6 B A x BT A I

Variable (2R) 1 2 3 4 5

Frequency (G{Iqﬁl) 4 5 X 1 2
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Options:

ELepn=
N = 0w
N

Correct Answer: 2) 8

Candidate Answer: 2) 8

QID : 153 - The quadratic polynomial whose roots are 2 and 4 is
Teh fgUTd dgue I1d Y oRId JRH 2 AT 4 8

Options:

1) x?-6x+8

2) 2x2-3x+8

3) (1/2)x?-6x+8

4) None of these

T A P T

Correct Answer: 1) x%-6x+8

Candidate Answer: 1) x?-6x+8

QID : 154 - If the equation 2x? 6x+p = 0 has real and different roots then the value of p is

fEeTa THBRUT 2x2 6x+p = 0 P HA IRATID qUT YA 81 Y p BT A
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Options:
1)

q-'_:_
P55

%
=5

Correct Answer: 1)

9
B3

Candidate Answer: 4)

9

:‘;:-_
=5

QID : 155 - A cycle is being sold for Rs.500 upfront payment and after one month for Rs.610
instalment. If interest is being charged at 20% p.a. then find the cash price of the cycle.

T TIsfhd B 500 Fo & T YT qUT Th HTg URATd 610 Fo B! fahd TR &A1 1 I@T &1 Afe 20%
e <R | =TT foram S X1 § <Y WrRfhd &1 Aehe Yo o1 g ...

Options:

1) 1100 Fo
1100 To
2) 1110 %o
1110 To
3) 1200 Fo
1200 o
4) 1122 To
1122 To

GET IT ON
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Correct Answer: 1) 1100 %o
1100 ®o

Candidate Answer: 3) 1200 %o
1200 %o

QID : 156 - A sewing machine is available for Rs.2600 on cash payment, or Rs.1000 upfront under
installment plan and in three monthly installments of Rs.550 each. What will be the rate of interest
charged under the installment plan?

T RIars A= Fae YaH TR 2600 Fo H IUTH g, AT fared Aot & Sidifd 1000%0 & TR Y=
TUT 550 Fo F i+ ATRI fhl B Iuasy 7| fvea diei1 & sicifa fere 71q saret e ...

Options:

Correct Answer: 2)

19= 9%
21

Candidate Answer: 3) 18%

QID : 157 - What is the co-ordinates of the mid point of the line joining the points (-10,6) and (6,-10)

(-10,6) TUT (6,-10)fag 3Tt & fira™ arelt X1 &1 A forg &1 ... 8-
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Options:
1) (-8,-8)

2) (-8,4)

3) (2.4)

4) (-2,-2)

Correct Answer: 4) (-2,-2)

Candidate Answer: 2) (-8,4)

QID : 158 - If the centroid of the triangle formed by the points (a,b),(b,c) and (c,a) is at the origin then
al+b3+cdis equalto ....

e fag (a,b),(b,c) 3R (c,a) T I FYS BT Frse Yarforg o, dl a®+b3+c3 WeR......... g
Options:

1)0

2) abc

3) 3abc

4) atb+c

Correct Answer: 3) 3abc

Candidate Answer: 3) 3abc

QID : 159 -

In the following figure, a line AC meets two
rays BD and BE at point B, then x+y =7

i d endpfd H, & foozul BD SR BE @I
ACUfdgB WA g A x+y =2



https://applink.adda247.com/d/XhqWf9lSap

Addai247

Correct Answer: 2) 80°

Candidate Answer: 2) 80°

QID : 160 - If ABCD is a Trapezium in which AB 11 CD and AD=BC, then:
If& ABCD Ueh THad Iqufst § o9 AB 11 CD 3R AD = BC a:
Options:

1) 2A=+B

2),A>+B

3)2A<¢«B

4) None of the above

T 9 PIS Tol
Correct Answer: 1) 2A=/B

Candidate Answer: 3) 2ZA<«B

GET IT ON
Google Play
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QiD : 161 -

If in a triangle APQR and ALMN, be in such a
FQ QR RP

was that — = —— = —and 2P =50°, £M =
LM MN  NL

70° then 2R=

APQR T ALMN =8 UaR § fr 28 =

LM
E—E T 4P = 50°, «M = 70°aT <R &

MN
AT B
; L
50°
70°
Q R M N

Options:

4) 120°
Correct Answer: 2) 60°

Candidate Answer: 2) 60°

QID : 162 - A cylinder and a cone are of same base radius and of same height. The ratio of the
volume of cylinder to that of cone is:

Wﬁﬁ;ﬁw%mwwwﬁwﬁwﬁﬁ%ﬁﬁ%wm%%w%
S{UId &:
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Options:

Correct Answer: 3) 2:3

Candidate Answer: 2) 1:3

QID : 163 - If the length of a rectangle is increased by 1/3rd and the width is decreased by 1/3rd, then
the area of the rectangle is decreased by the fraction

IS Teh 31T B a1 1/3 §¢1 &t STt 2 3R AISTS 1/3 HH DR &) Ol 8, oY 3d T Q7 f H-
&Y g o1l §

Options:
1) 2/3
2)1/6
3)1/9
4)1/8

Correct Answer: 3) 1/9

Candidate Answer: 4) 1/8

QID : 164 -
There is 2.5 m broad path along the P a
sides of a swimming pool which is 40 m A 12‘5"' B
long and 30 m broad. e
What is the area of the path? J' '?5—)1
-2
um R gE s a0 HieR Gl gL e et L

3R 30 e 99T &1 PRI W 2.5 e
IIET I B UY & ETGT a4 &)
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Options:

1) 200 sqg. m.
200 a7 T
2) 375 sq. m.
375 9 1t
3) 425 sq. m.
425 o T
4) 300 sq. m.
300 o 7t

Correct Answer: 2) 375sq. m.

375 9f #

Candidate Answer: 3) 425sq. m.
425 i it

QID : 165 - If the ratio of mean and median of a certain data is 2:3 then the ratio of its mode and
meanis......

foreft facRoT T Wi U1 A1 BT SIUTd 2:3 & O Sgaid auT HIS BT S{IUTd -—--- BT

Correct Answer: 1) 5:2

Candidate Answer: 1) 5:2

GET IT ON
Google Play
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QID : 166 -

The difference of the upper limit of median class
and the lower limit of the modal class of
following distribution is ......
Clas | 100- | 110~ | 120-130 | 130- 140-
8 110 | 120 140 150
freq | 8 16 10 9 7

=1 fgazur § arere @1l 1 3= HiHT 9UT Sgad
g FE A ST 3R ... 8

i1 | 100- | 110- | 120- 130- 140-
110 | 120 | 130 140 150
dlo | 8 16 10 9 7

The difference of the upper limit of median class
and the lower limit of the modal class of
following distribution is ......
Clas | 100- | 110- | 120-130 | 130- 140-
8 110 | 120 140 150
freq | 8 16 10 9 7]

e faaror | wreges &t @1 I HiHT U1 Sgae
g7l 1 1 1 T SRR ..o, B

1 | 100- | 110- | 120- 130- 140-
110 [ 120 | 130 140 150
dle | 8 16 10 9 7

Options:

Correct Answer: 1) 10

Candidate Answer: 1) 10
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QID : 167 - The mean of 100 items was found to be 30. If at the time of calculation two items were
wrongly taken as 32 and 12 instead of 23 and 12. then the Correct Mean is.

100 UG! T HIST 30 § AME TTerell § 23 3R 12 % WM W 32 3R 12 R T g, A ugI A1sd ... §
Options:

1)29

2)295

3)29.7

4)29.9

Correct Answer: 4) 29.9

Candidate Answer: 3) 29.7

QID : 168 -

The simplified value of sin*a + cos*a +
é sin®2a is ...

sinta + cos*a + > sin?2a 1 WP A

g

The simplified value of sin*a + cos*a +
% sin’2a is ...
sin*a + cos*a + % sin?2a &1 Icliepd HH
Rl
Options:
1) -1
2) sincctcoso
3)0
4) 1
Correct Answer: 4) 1

Candidate Answer: 4) 1

GET IT ON
Google Play
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QID : 169 - If x=rsinBcos« , y=rsinB sin« and z=rcosB , then
Tfq x=rsinBcosc , y=rsinB sinx 3R z=rcos Fﬁ,

Options:

1) x2+y2+72=r2

2) x2+y2-72=p2

3) x2-y2+72=r2

4) 22+y2x2=p2

Correct Answer: 1) x?+y?+z2=r

Candidate Answer: 2) x?+y?-z%=r?

QID : 170 -
sin20°+cos70°+cos20°sin70°

5in23° cosec23+cos523° sec23”

5in20°+cos70%°+cos520%sin70°

5in23° cosec23®+cos523° 5ec23°

Options:
1) -1

2)

B3| =
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Correct Answer: 2)

1

2

Candidate Answer: 4) 1

QID : 171 - The main technique involved in agricultural biotechnology is
W db-Id Y A GRTferd Jig dhiieb o-
Options:

1) Tissue Culture
Sad Hagd

2) Transformation
FUR

3) Plant breeding
e Ioie

4) DNA replication
DNA UfcRY

Correct Answer: 1) Tissue Culture
ERERSELE]

Candidate Answer: 1) Tissue Culture
Sad Hagd

QID : 172 - The chemical formula of Plaster of Paris is
WReR 3Tt U 1 IS G 82
Options:

1) CaS0O,4-2H,0
CaSO4—2H20

2) CaS04.1+2H,0
CaS04.1+2H,0

3) Na,C0O3.10 H,O
Na,C05.10 H,O
4) None of these

T A DI T

Correct Answer: 2) CaS04.1+2H20
CaS0,.1+2H,0
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Candidate Answer: 3) Na»CO3.10 H,0O
NagCO3.10 HQO

QID : 173 - Which of the following is an ore of mercury ?

fRAfafed & 19 URT &1 3 § 2

Options:

1) Brass
EIR

2) Solder
Hes

3) Amalgam
STHTTH

4) Cinnabar

IREEIN

Correct Answer: 4) Cinnabar

IREGIRY

Candidate Answer: 3) Amalgam
STHTTH

QID : 174 - Commodities due to the process of evaporation
il B UfehaT & HRUT I -
Options:

1) heats up

TH g B

2) cools down
SN R

3) temperature rises
Y §¢ ST 8

4) none of these

ST A BIS 811

Correct Answer: 2) cools down

LRI

Candidate Answer: 2) cools down

CEEGI
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QID : 175 - Kingdom Monera includes
frem TR B 2nfid §
Options:

1) Bacteria
CESIRUll

2) Dinoflagellates

Ny

3) Slime Moulds
gH Hiegd
4) Euglenoids

S

Correct Answer: 1) Bacteria

Candidate Answer: 4) Euglenoids

EUSEIRER

QID : 176 - Which of the following the causal pathogen for "African sleeping sickness":-

A o T B BihT T Rip=g &7 INHRD ild @ -
Options:

1) Amoeba
SetaT

2) Plasmodium

3) Trypanosoma

~

4) Paramecium

QRIfHREg

Correct Answer: 3) Trypanosoma

CRIRIEI]

~

Candidate Answer: 3) Trypanosoma

CERIRIEI]

~

QID : 177 - Which test is used to measure water pollution?

et UT Bl W1 & T 1 a1 adlegor fopa S § 2

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap

Adda7

Options:

1) Biochemical Oxygen Demand
G - ARG Sfieitor AT

2) Biologist Oxygen Demand
Sitafasirt siferitor &t AT

3) Biology Qxygen Demand

Sftq faIT SHTeriter AT

4) Oxygen Demand

TRl o A

Correct Answer: 1) Biochemical Oxygen Demand

W4 - IS TR AT

Candidate Answer: 4) Oxygen Demand
SRS 1 AT

QID : 178 - Which of the following roots are respiratory roots?
fEfRad 7 ¥ o9 I 58 TagT oS § 2

Options:

1) epiphytic roots

2) stilt roots

few &g

3) Prop roots

EIECE)

4) Pneumatophores

FHABRY

Correct Answer: 4) Pneumatophores

JHABRY

Candidate Answer: 1) epiphytic roots

UEEINKEAC

QID : 179 - Which of the following is not included in Darwin's theory?

fFrefafed # @ i sifda & Rigia & =nfie 781 § 2
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Options:

1) Natural selection

UIpidd 9g-

2) Evolution through Inheritance
faRTed & wregw ¥ fasr

3) Survival of the fittest
IgaH B IcReiadr

4) Struggle for existence of life

ofta & 31K & forg gy

Correct Answer: 2) Evolution through Inheritance

forrgd & A1emw @ faerg

Candidate Answer: 4) Struggle for existence of life

Sitad & 3if&Ta & forg o

QID : 180 - If a body starts from rest and moves with uniform acceleration, then
TR DI g [RTHITRIT I TR FHR THIHA RT3 T B, 9
Options:

1) vt
Vot
2)sot
st
3)vxs
VXS
4) s o\t
s ot

Correct Answer: 1) v «t
vt

Candidate Answer: 1) vt
vt

QID : 181 - The S | unit of momentum is

T T S| A -

GET IT ON
Google Play
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Options:

1) kg

Kg

2) kgm5'
Kg ms™"

3) kgms
Kgms

4) kgm52
Kgms-2/sup>

Correct Answer: 2) kgm5'
Kg ms™’

Candidate Answer: 2) kgm5'
Kg ms™

QID : 182 - An object just floats in water. If common salt is added into the water what will happen
DI g% forg urt & &R 6T 8 39 U B e, firen faan Se ot e ufawa g
Options:

1) The object sinks.

a¥g g

2) The object first sinks and then floats up
I TS F 3R R R T

3) The volume of the object Immersed in the liquid decreases
X DT I8 HFT S 5d H &l g3 AT SUBT AT gl
4) In cannot be determined

BT 3T YHT T8l g

Correct Answer: 3) The volume of the object Immersed in the liquid decreases
aﬁmagmﬁﬁaaﬁg—mgaﬂ T I T T

Candidate Answer: 3) The volume of the object Immersed in the liquid decreases
T DT I8 UV Off 5d H ol 3T UT SHDT 3T T

QID : 183 - In SONAR we use

IR U Ut gfe 7 o Suai fara Sirar @
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Options:

1) Infrasonic waves
A% A BT
2) Ultrasonic waves

QI a0 BT

3) Audible sound waves
G g o B

4) Radio waves

ST M BT

Correct Answer: 2) Ultrasonic waves

WRIEa a9 BT

Candidate Answer: 1) Infrasonic waves
3fageg aXM Bl

QID : 184 - What is the main cause of land degradation in Punjab?
Yot o YA FAfiar &1 e HRUT 1 872
Options:

1) Over irrigation
3ifirep R

2) Over grazing
XIREIRY

3) Intensive farming

e et

4) Deforestation

ERICGE]

Correct Answer: 1) Over irrigation

31 g

Candidate Answer: 1) Over irrigation

i R

QID : 185 - Which of the following is the chief role of Ozone Layer?

fAfeforgd o @ o1 1 SiiSiF Ra &1 31 &1 82
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Options:

1) To reduce Ultraviolet rays

3fegTarsae famur & it T § o &
2) To decrease the volume of oxygen
ST DI HH DA

3) To increase the volume of nitrogen
TSI Y QT AT

4) None of these

3T A BIE el

Correct Answer: 1) To reduce Ultraviolet rays

3fegTargae four & it JmEr § o S

Candidate Answer: 1) To reduce Ultraviolet rays

3fegTarsae famur & it T § o &

QID : 186 - Which type of coal is known for its quality?

D I B GG I TUHR BT 5Idl 52
Options:

1) Bituminous

fagfma

2) Anthracite
TITEISe

3) Lignite
NINEIES

4) None of these

3T A B Tl

Correct Answer: 2) Anthracite

SIS

Candidate Answer: 2) Anthracite

TR

QID : 187 - Which of the following is a source of renewable energy?

T q B TdBRUTg SHuif o1 Wid & 2
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Options:

1) Coal
DI
2) Petrol
udid

3) Wood
SEaS]

4) Sun light
T &1 U

Correct Answer: 4) Sun light
g &1 Ut

Candidate Answer: 4) Sun light
4 &1 gt

QID : 188 -

Three resistors are connected in the order of the sides of a triangle ABC as shown in
the figure. The equivalent resistance between the end of A and B will be.

i UfcRe® REUR U HYs ABC &1 Yallsll & %4 4 9 g1

ATyt e & iR & = gged ofady g
A B0 C
400 1000

Three resistors are connected in the order of the sides of a triangle ABC as shown in
the figure. The equivalent resistance between the end of A and B will be.

i iR RETTHR TP By Apc @1 sl & HH A 3 ¢l
ATy e & iRl & = ggea ufdy g

A 80 C

400 10002
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Options:

1) 50 ohm
50 3 H

2) 654 ohm
654 3

3) 32 ohm
32 3

4) 200 ohm
200 3/

Correct Answer: 3) 32 ohm

32 3N

Candidate Answer: 4) 200 ohm
200 31|

QID : 189 - How much energy is given to each coulombs of charge passing through a 6V battery
BV STt  ToRA aTdl 8% U A 3% &l faa-t Ioif < St 872
Options:

1) 4J
4J
2)5J
5J
3)6J
6J
4)8J
8J

Correct Answer: 3) 6J
6J

Candidate Answer: 4) 8J
8J

QID : 190 - Which one of the following media has maximum speed of light?

A o T foog A1erH & YT & 1 3T d 82
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Options:

Air

g:

2) water
o

3) Glass
==

4) Diamond

eI

Correct Answer: 1) Air

&dl

Candidate Answer: 3) Glass

offem

QID : 191 - What was the name of Germany's currency ?
STHAT BT ST BT A1 -7 T 2
Options:

1) Dollar

2

2) Pound

Correct Answer: 3) Mark

HTch

Candidate Answer: 4) Ruble
2dd

QID : 192 - Rubber plantation is famous in:

IgS I URTS ©: |
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Options:

1) Sri Lanka
giciept

2) Brazil
EISINS

3) Malaysia

4) USA
quay

Correct Answer: 3) Malaysia

AR

Candidate Answer: 2) Brazil

EISIG]

QID : 193 - Who was the leader of the Bolshevik Party?

FRAfdH Ul & A1 HH A2
Options:

1) Karl marx
BTl AT
2) Stalin
e

3) Lenin

IR

4) Louis Blanc

qs &l

Correct Answer: 3) Lenin

NIEE]

Candidate Answer: 3) Lenin

A

QID : 194 - When did the Jallianwala Bagh massacre take place?

SIferatare SN §AThiS B g Ul 2
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Options:

1) 7043
13 30d , 1919
2) 7073
1313, 1919
3) 7075

15 7% , 1919
4) 7111

20 5, 1919

Correct Answer: 1) 7043

13 30 , 1919

Candidate Answer: 1) 7043

13 30, 1919

QID : 195 - During whose reign did Megasthenes visit Pataliputra ?
TTRYIST A UTeferga &1 A fhdds [M-epTal | &1 ot 2
Options:

1) Chandragupta |

I UIH
2) Harshwardhan

gYaGA

3) Chandragupta Il

T fgdia

4) Chandragupta Maurya
T A

Correct Answer: 4) Chandragupta Maurya

T AR

Candidate Answer: 3) Chandragupta Il
I gard

QID : 196 - Where is Bharatpur Bird Sanctuary located?

WRAR veft 3Rl Hal fRa g 2
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Options:

1) Gujrat

2) Maharastra
HERTS

3) Rajastahan
XTSI

4) Madya-Pradesh

AT

Correct Answer: 3) Rajastahan
XTSI

Candidate Answer: 3) Rajastahan
XTSI

QID : 197 - The economy of Bhutan relies on?

YT B SreforawT ford TR smeia 32
Options:

1) Industry
IIT R

2) Agriculture

PR W

3) Tourism
e W

4) None of these

ST A DIs 811

Correct Answer: 2) Agriculture

PR W

Candidate Answer: 1) Industry

IR

QID : 198 - Central Institute of Fisheries Education....

Folg Arfdge! fRrem IwM. ..
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Options:

1) Kolkata, West Bengal.
DIADIAT, UIHH ST |

2) Jamnagar, Gujarat.

SIHATR, ToRTd

3) Cuttack, Odisha.
B, ISl

4) Mumbai, Maharashtra.

Correct Answer: 4) Mumbai, Maharashtra.

Candidate Answer: 2) Jamnagar, Gujarat.

SIHATR, oiRTd

QID : 199 - 96.5 per cent of the total volume of the world’s water is estimated to exist as and
only 2.5 per cent as

ST & O B Hdl AT BT 96.5 WA= & ¥ B HIN[E g 3R Had 2.5 Ui &
U T A g

Options:

1) freshwater, oceans
WS g, AR
2) oceans, freshwater

TR, HIS Uit

3) groundwater, oceans

Holdd, HeHTR
4) None of these

3T A BIY Tl

Correct Answer: 2) oceans, freshwater

AENIR, H1S U

Candidate Answer: 2) oceans, freshwater

HEMIR, H1S U

QID : 200 - What is Red Data Book ?

IS ST TH AT ]?
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Options:

1) To acquaint about the dangers of extinction of general species.

I T & I 819 & Wak ST foha S 2|

2) Unanimous marking of endangered species

e T Uit Jaqa &9 ¥ fafed gid 31

3) Marking of endangered species on local level.

R TR R YHedd TSIl S Uga Td I UR&0N J Halid SrichH o Uieirg ol
4) All of these

99 9 g uel|

Correct Answer: 4) All of these

=79 T Tt gt

Candidate Answer: 3) Marking of endangered species on local level.

R TR R Ghedd Uolliad! &1 g Td 370 IR&UT A Yefd Brih ol Miedrg &1

QID : 201 - Bhakra Nangal Dam is established on which river ?
YIREST 1T URATSHT oy et TR Sfaf®yd &2
Options:

1) Narmada
QL]

2) Yamuna

REeall

3) Sutlej
e
4) Beas
g

Correct Answer: 3) Sutlej
e

Candidate Answer: 3) Sutlej
e

QID : 202 - In mountainous regions which type of railways tracks has been built ?

T 4T H {59 TR & ITHNT 918 T4 872
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Options:

1) Broad Gauge
ESIGIES]

2) Norrow Gauge

JH el A
3) Meter Gauge
HeR 1

4) None of these

3T A BIE el

Correct Answer: 2) Norrow Gauge

Tp el Az

Candidate Answer: 3) Meter Gauge

e I

QID : 203 - Jayprakash Narayan Airport is located in which city of Bihar ?
SRIGPTRT AR SARTSE I §aTs 78T f9gR & g W # T 8 2
Options:

1) Motihari
HIfRRY

2) Darbhanga
TR

3) Gaya

ar

4) Patna
UeHT

Correct Answer: 4) Patna
ge-r

Candidate Answer: 2) Darbhanga
Y

QID : 204 - Which country has the Communist system of government?

FHRIARE W IR {9 = H 8-
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2) America
3ARBT

3) Canada
ElS

4) India
URd

Correct Answer: 1) China

Bk

Candidate Answer: 4) India
HRd

QID : 205 - The value of the vote of a distinguished person and an ordinary person is...
fafree safda Sik TyRYr fda & die &1 Jed gidl &-
Options:

1) One

157

2) Many

=

3) Both

T T =T gt

4) None of these

PIs el

Correct Answer: 1) One
Th

Candidate Answer: 1) One

e

QID : 206 - When was the first emergency imposed in India?

YR H SATUTTBTeT FATYUH TN G-
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Options:

1) 1952
1952
2) 1962
1962
3) 1965
1965
4) 1972
1972

Correct Answer: 2) 1962
1962

Candidate Answer: 3) 1965
1965

QID : 207 - What is a good result of social differences?
TR fANG BT Ua ST TR0 JTE 2
Options:

1) Empowerment of women
BINEIR NGRS

2) Empowerment of Democracy.
NIERECIRNESCEIE!

3) Empowerment of Country.
SR P TRIG FAMAT

4) Empowerment of society.
BEIEKCIRNESICEIT!

Correct Answer: 2) Empowerment of Democracy.

NIEREEAR PSR

Candidate Answer: 2) Empowerment of Democracy.

Ahdd Bl IR FHT

QID : 208 - How long is term for member of Rajya Sabha?

ISTIHT P T& BT HRIBTA fba- a8 BT BT & ?
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Options:

1) 3 years
3T9
2) 5 years
59
3) 6 years
6 9y

4) 2 years
2 9

Correct Answer: 3) 6 years

6 ay

Candidate Answer: 3) 6 years

6 ay

QID : 209 - Indian democracy is called the lab of .
YR Al DI g TARTRIE H8l 7T 82
Options:

1) Education
fRram

2) Development
faerg

3) Rights
SIREAR

4) None of these.

3T A BIS Tl

Correct Answer: 3) Rights

SIBRI

Candidate Answer: 2) Development

fowra

QID : 210 - Where is direct democracy in modern age?

MYfw T A UTes A Hal 82
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Options:

1) in Britain
fore #

2) In france
wig |

3) In India
YR ¥

4) In switzerland

fgeoRdvs A

Correct Answer: 4) In switzerland

fRgeoRdvs #

Candidate Answer: 1) in Britain

fsre &

QID : 211 - Which tense is used to express an action taking place in the future?

Options:

1) Future perfect tense

2) Future perfect continuous tense
)
)

3) Future indefinite tense
4) Future continuous tense

Correct Answer: 4) Future continuous tense

Candidate Answer: 2) Future perfect continuous tense

QID : 212 - Identify the tense used in the sentence.
"When shall our application be approved?"

Options:

1) Future perfect tense

2) Present indefinite tense
)
)

3) Past perfect tense
4) Future indefinite tense

Correct Answer: 4) Future indefinite tense

Candidate Answer: 1) Future perfect tense
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QID : 213 - Select the most appropriate option to change the sentence from direct speech to indirect
speech "You should sit on the white chair", he said.
He said that ............. Sit....... white chair.

Options:

1) we must/on the
2) you should/at the
3) I should/on the
4) | must/at the

Correct Answer: 3) |should/on the

Candidate Answer: 4) | must/at the

QID : 214 - Select the most appropriate option to change the sentence from direct speech to indirect

speech

Ritesh said, "I will manage hereafter".
Ritesh said that ................. manage........
Options:

1) | would/then after

)
2) they would/ever after
3) he would/thereafter
4) you would/hereafter

Correct Answer: 3) he would/thereafter

Candidate Answer: 3) he would/thereafter

QID : 215 - Pickout the Non finite verb/verbs in the sentence given below
He disliked seeing the films.

Options:
1) Disliked
2) Seeing
3) Films
4) Disliked, seeing

Correct Answer: 2) Seeing

Candidate Answer: 2) Seeing
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QID : 216 - Pickout the Non finite verb/verbs in the sentence given below.
There was nothing for him to fight for.

Options:
1) Nothing
2) For
3) Was
4) Fight for

Correct Answer: 4) Fight for

Candidate Answer: 1) Nothing

QID : 217 - Identify the Passive Voice of the given sentence
Post the letter.

Options:

1) The letter is to be posted by you.
2) Let the letter been posted.

3) Letter was being posted.

4) Letter will be posted.

Correct Answer: 2) Let the letter been posted.

Candidate Answer: 3) Letter was being posted.

QID : 218 - Which of these is not a punctuation mark?

Options:

onN=
~

Correct Answer: 1) #

Candidate Answer: 2) ?

QID : 219 - Which Punctuation Mark is used to show 'Pause'?
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Options:

1) Period

)
2) Comma
3) Slash
4) Ellipsis

Correct Answer: 2) Comma

Candidate Answer: 1) Period

QID : 220 - Fill up the blank, with the correct option
She was sitting................. Savitri and Sushma.

Options:

1)
2)
3)

)

4) between

among
on
at

Correct Answer: 4) between

Candidate Answer: 4) between

QID : 221 - Fill up the blank, with the correct option
My fatheris.................. sixty.

Correct Answer: 2) below

Candidate Answer: 2) below

QID : 222 - Fill in the blank with suitable cohesive device.
Most animals sleep like people do; they lie down.......... birds and horses sleep while standing up!

GET IT ON
Google Play
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Options:

1) For example
2) Like wise
3) However
4) Where

Correct Answer: 3) However

Candidate Answer: 4) Where

QID : 223 - Fill in the blank with correct cohesive device.
The rhino in Africa is threatened with extinction; ----- , many species of gorilla are also endangered

Options:

1
2
3
4

consequently
nevertheless
similarly

SO

~— ~— ~— ~—

Correct Answer: 3) similarly

Candidate Answer: 3) similarly

QID : 224 - Select the alternative which best express the meaning of the idioms/phrase.
Hit the nail in the head

Options:
1) To do or say something exactly right
2) To persuade someone

)
)
3) To misguide someone
4) To get the expected result

Correct Answer: 1) To do or say something exactly right

Candidate Answer: 3) To misguide someone

QID : 225 - Select the alternative which best express the meaning of the idioms/phrase.
Addicted to

GET IT ON
Google Play
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Options:

1) Habituated to something

2) Under the pressure of someone
3) Under the control of

4) Blind to someone's fault

Correct Answer: 1) Habituated to something

Candidate Answer: 4) Blind to someone's fault

QID : 226 - Select the alternative which best express the meaning of the idioms/phrase.
Carry on

Options:

1
2
3
4

To shoulder the responsibility
To accept the defeat

To continue

To catch and move

~— ~— ~— ~—

Correct Answer: 3) To continue

Candidate Answer: 2) To accept the defeat

QID : 227 - Choose the correct phrase from the given option and make a conditional sentence.
My mother would not go to my uncle's house if my uncle my........... mother's call.

Options:

1) receives
2) had receive
3) received
4) receive

Correct Answer: 3) received

Candidate Answer: 3) received

QID : 228 - Choose the correct phrase from the given option and make a conditional sentence.
Maya and Reshma....... you in the hospital if they have enough time this afternoon.

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap

Adda7

Options:

1) will visit

)

2) will visit to
3) would visit
4) would visit to

Correct Answer: 1) will visit

Candidate Answer: 4) would visit to

QID : 229 - Fill up the blank with the correct option.
A white and brown horse.......... grazing in the field.

Options:

Correct Answer: 2) is

Candidate Answer: 3) were

QID : 230 - Fill up the blank with the correct option.
There ............. a lot of water in the pond.

Correct Answer: 2) Is

Candidate Answer: 2) Is

QID : 231 - Find out the odd element from the given options:-

= fed 7 famedt & O favH da &1 1 Bifoe
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Options:

1) Rousseau

L3y}

2) Einstein
S

3) Chadwick
EREIGT

4) Newton

Correct Answer: 1) Rousseau

Bl

Candidate Answer: 3) Chadwick

ESGIED

QID : 232 - which letter group will complete when put in the blank space of the given letter series.

cC___ccbc___ _accbcc__c__ b.
3 T 31eR e & Wl RIFl H HH W [ WR DI - T 3HeR TG I TR S |

cc ccbce accbcc__c__b.

Options:

1) acac
acac
2) cacbh
cacb
3) bcab
bcab
4) bcac
bcac

Correct Answer: 1) acac
acac

Candidate Answer: 3) bcab
bcab

QID : 233 - Praveen walks 30m to wards east, tarns right and walks 20m, then turns right and walks
20m. How far is he now from starting point?

gaitor 30 Hiex [RE BT SR 77ll, T8 GSah 20 Hiex Iar 3R iR gl ge& 20 Hiex 9| 39 98
URMAYE M ¥ fhdT R 82
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Options:

1) 50 m.
50 Ht0
2) 40 m.
40 o
3)20 m.
20 Hto

4)10 m.
10 Ho

Correct Answer: 4) 10 m.

10 Ho

Candidate Answer: 4) 10 m.
10 Hi0

QID : 234 - Identify the word, that could be written by mixing the Letters of a given word ?
INFORMATION

T U U Teg & 31eRY B e Y forar o Fev,
Jg oG UgdH ?

Options:

1) Motion
Motion

2) Farmer
Farmer
3) Fire
Fire

4) Name
Name

Correct Answer: 1) Motion
Motion

Candidate Answer: 1) Motion
Motion

QID : 235 - A,B,C,D and E are five Schools. Ais in between E and B,E is to the right of D. If cand D
are at the two ends, then which School is to the left of C ?

ABCDANEUdIGARI AETUIBF I HGIEDF AR AR AR CHRD A IS R ANCH
TS R D A HAE ?
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Options:

Correct Answer: 3) B
B

Candidate Answer: 2) D
D

QID : 236 - Which of the following is a Composite number?
frafaiea & @ eF-f Tgad We g2
Options:

1)0
0

2) 19
19
3)29
29
4) 91
91

Correct Answer: 4) 91
91

Candidate Answer: 3) 29
29
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QID : 237 -
How many triangles are there in the following figure?

Rt W & frae fager ¥2

A) 13 B) 9 c) 12 D) 10

Options:

1) Option (A) is Correct
fowea (A) Wl ®
2) Option (B) is Correct
fowea (B) Wl T
3) Option (C) is Correct
fowea (c) Wl ®
4) Option (D) is Correct
faweg () ¥ &

Correct Answer: 3) Option (C) is Correct

faded (C) Te 7

Candidate Answer: 3) Option (C) is Correct
fawed (C) W8l 8

QID : 238 - Look at this series: 1.5, 2.3, 3.1, 3.9, ...
What number should come next?

U 49T B ¢ : 31, 29, 24, 22, 17.....

3R DI T S+ Afen?
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Options:

1)4.2
4.2
2)4.4
4.4
3)5.1
5.1
4)47
4.7

Correct Answer: 4) 4.7
47

Candidate Answer: 3) 5.1
5.1

QID : 239 - Manoj and Sachin are ranked seventh and eleventh respectively from the top in a class of
31 students. What will be their respective ranks from the bottom in the class ?

T 3R A 31 B D1 T Hal H SHWR J HH: JIdd 3R TRED WM W 8| Hal H 71 J I7h!
Tafdrd I o1 grf?

Options:

1) 20th and 24th
20T 3R 24¥
2) 24th and 20th
243 3R 20df
3) 25th and 21st
25df 3R 21F
4) 26th and 22nd
269 3R 22

Correct Answer: 3) 25th and 21st
25dF 3R 21

Candidate Answer: 1) 20th and 24th
20} 3R 247

QID : 240 - The eighth term in the series
2,6,18,54, is
SRgell

2,6,18,54, W aediuc g
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Options:

1) 4372
4372
2) 4374
4374
3) 7343
7343
4) 7434
7434

Correct Answer: 2) 4374
4374

Candidate Answer: 2) 4374
4374
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